# A NOTE ON JEŚMANOWICZ’ CONJECTURE CONCERNING PRIMITIVE PYTHAGOREAN TRIPLES 

# MOU-JIE DENG ${ }^{\boxtimes}$ and DONG-MING HUANG 

(Received 18 May 2016; accepted 13 June 2016; first published online 26 September 2016)


#### Abstract

Let $a, b, c$ be a primitive Pythagorean triple and set $a=m^{2}-n^{2}, b=2 m n, c=m^{2}+n^{2}$, where $m$ and $n$ are positive integers with $m>n, \operatorname{gcd}(m, n)=1$ and $m \not \equiv n(\bmod 2)$. In 1956, Jeśmanowicz conjectured that the only positive integer solution to the Diophantine equation $\left(m^{2}-n^{2}\right)^{x}+(2 m n)^{y}=\left(m^{2}+n^{2}\right)^{z}$ is $(x, y, z)=(2,2,2)$. We use biquadratic character theory to investigate the case with $(m, n) \equiv(2,3)(\bmod 4)$. We show that Jeśmanowicz' conjecture is true in this case if $m+n \not \equiv 1(\bmod 16)$ or $y>1$. Finally, using these results together with Laurent's refinement of Baker's theorem, we show that Jeśmanowicz' conjecture is true if $(m, n) \equiv(2,3)(\bmod 4)$ and $n<100$.


2010 Mathematics subject classification: primary 11D61.
Keywords and phrases: exponential Diophantine equations, Pythagorean triples, Jeśmanowicz' conjecture.

## 1. Introduction

Let $a, b, c$ be positive integers satisfying $a^{2}+b^{2}=c^{2}$. Clearly, the Diophantine equation

$$
\begin{equation*}
a^{x}+b^{x}=c^{z} \tag{1.1}
\end{equation*}
$$

has the positive integer solution $(x, y, z)=(2,2,2)$. In 1956, Sierpiński [14] and Jeśmanowicz [6] showed that this is the only solution of the equation (1.1) for $(a, b, c)=(3,4,5),(5,12,13),(7,24,25),(9,40,41)$ and $(11,60,61)$. Based on these results, Jeśmanowicz conjectured that the only positive integer solution to equation (1.1) is $(x, y, z)=(2,2,2)$. If $(a, b, c)$ is a primitive Pythagorean triple with $2 \mid b$, it is well known that $a, b, c$ can be written as

$$
a=m^{2}-n^{2}, \quad b=2 m n, \quad c=m^{2}+n^{2}
$$

where $m, n$ are positive integers such that $\operatorname{gcd}(m, n)=1, m>n, m \not \equiv n(\bmod 2)$. Then (1.1) can be written as

$$
\begin{equation*}
\left(m^{2}-n^{2}\right)^{x}+(2 m n)^{y}=\left(m^{2}+n^{2}\right)^{z} \tag{1.2}
\end{equation*}
$$

This work was supported by the Natural Science Foundation of Hainan Province (No. 20161002). (C) 2016 Australian Mathematical Publishing Association Inc. 0004-9727/2016 \$16.00

Many special cases of Jeśmanowicz' conjecture have been settled for primitive Pythagorean triples. In 1959, Lu [9] proved that, if $n=1$, then (1.2) has only the positive integer solution $(x, y, z)=(2,2,2)$. In 1965, Deḿjanenko [2] extended the results of [14] and [6] by proving the following proposition.
Proposition 1.1. If $m-n=1$, then (1.2) has only the positive integer solution $(x, y, z)=$ (2,2,2).

The results of Lu and Deḿjanenko were extended by Miyazaki [10] in 2013 and further extended by Miyazaki et al. [12] in 2014. Further results concerning Jeśmanowicz' conjecture have been obtained under the condition that $2 \| m n$. For example, Le [8] showed that if $2 \| m n$ and $m^{2}+n^{2}$ is a power of an odd prime $q$, then Jeśmanowicz' conjecture is true. Using the theory of linear forms in two logarithms, Guo and Le [5] proved that if $n=3, m \equiv 2(\bmod 4)$ and $m>6000$, then Jeśmanowicz' conjecture is true. Takakuwa [15] further proved that if $n=3,7,11,15$ and $m \equiv 2(\bmod 4)$, then Jeśmanowicz' conjecture is true. Under the assumption that $m$ or $n$ has no prime factor of the type $4 k+1$, Deng and Cohen [4] and Deng [3] proved amongst other results that Jeśmanowicz' conjecture is true if $2 \| m$ or $2 \| n$ and some other conditions concerning the prime factors of $m \pm n$ are satisfied. Again, under the condition that $2 \| m n$, Cao [1] proved the following two propositions.

Proposition 1.2. If $(m, n) \equiv(2,1)(\bmod 4)$, or $(m, n) \equiv(2,3)(\bmod 4)$ and $m+n$ has a prime factor of the form $4 k+3$, then (1.2) has only the positive integer solution $(x, y, z)=(2,2,2)$.

Proposition 1.3. If $(m, n) \equiv(1,6)$ or $(5,2)(\bmod 8)$, or $(m, n) \equiv(3,2)(\bmod 4)$ and $m+n$ has a prime factor of the form $4 k+3$, then (1.2) has only the positive integer solution $(x, y, z)=(2,2,2)$.

In 2014, Terai [16] proved that if $n=2$, then Jeśmanowicz' conjecture is true without any assumption on $m$. Recently, Miyazaki and Terai [11] extended this result.

In this paper, using biquadratic character theory, we first show that, for some $(m, n) \equiv(2,3)(\bmod 4)$, the condition that $m+n$ has a prime factor of the form $4 k+3$ in Proposition 1.2 can be removed. Then, using the above results together with Laurent's refinement of Baker's theorem on linear forms in two logarithms, we will extend Takakuwa's result in [15]. The following results will be proved.

Theorem 1.4. If $(m, n) \equiv(2,3)(\bmod 8)$ or $(m, n) \equiv(6,7)(\bmod 8)$, then $(1.2)$ has only the positive integer solution $(x, y, z)=(2,2,2)$.

Theorem 1.5. If one of the following conditions is satisfied, then (1.2) has only the positive integer solution $(x, y, z)=(2,2,2)$ :
(i) $y>1$ and $(m, n) \equiv(2,7)(\bmod 8)$;
(ii) $\quad(m, n) \equiv(2,7)(\bmod 16)$ or $(m, n) \equiv(10,15)(\bmod 16)$.

Theorem 1.6. If one of the following conditions is satisfied, then (1.2) has only the positive integer solution $(x, y, z)=(2,2,2)$ :
(i) $\quad y>1$ and $(m, n) \equiv(6,3)(\bmod 8)$;
(ii) $\quad(m, n) \equiv(6,3)(\bmod 16)$ or $(m, n) \equiv(14,11)(\bmod 16)$.

Theorem 1.7. If $(m, n) \equiv(2,3)(\bmod 4)$ and $n<100$, then (1.2) has only the positive integer solution $(x, y, z)=(2,2,2)$.

When $y=1$, (1.2) becomes

$$
\begin{equation*}
\left(m^{2}-n^{2}\right)^{x}+2 m n=\left(m^{2}+n^{2}\right)^{z} . \tag{1.3}
\end{equation*}
$$

For every given $n$, using the lower bound for linear forms in two logarithms due to Laurent [7], we obtain an upper bound for the corresponding $m$. Then by considering the congruences

$$
\begin{equation*}
\left(m^{2}-n^{2}\right)^{x}+2 m n \equiv\left(m^{2}+n^{2}\right)^{z}(\bmod N) \tag{1.4}
\end{equation*}
$$

for a suitable choice of the modulus $N$ in the relevant range of $x, z, m$, we prove that (1.3) has no solution. It is worth noting that checking the congruence (1.4) involves much less computation than checking the equation (1.3).

## 2. Preliminaries

In order to prove that equation (1.3) has no solution, we need three lemmas. We first recall some notation. Let $\alpha_{1}$ and $\alpha_{2}$ be real algebraic numbers with $\alpha_{1} \geq 1$ and $\alpha_{2} \geq 1$. For an algebraic number $\alpha$ of degree $n$, let

$$
h(\alpha)=\frac{1}{n}\left(\log \left|\alpha_{0}\right|+\sum_{j=1}^{n} \log \max \left\{1,\left|\alpha^{(j)}\right|\right\}\right)
$$

denote the logarithmic height of $\alpha$, where $\alpha_{0}$ is the leading coefficient of the minimal polynomial of $\alpha$ (over $\mathbb{Z}$ ) and $\left(\alpha^{(j)}\right)_{1 \leq j \leq n}$ are the conjugates of $\alpha$. Let $A_{1}$ and $A_{2}$ be real numbers greater than 1 with

$$
\log A_{i} \geq \max \left\{h\left(\alpha_{i}\right), \frac{\left|\log \alpha_{i}\right|}{D}, \frac{1}{D}\right\}
$$

for $i \in\{1,2\}$, where $D$ is the degree of the number field $Q\left(\alpha_{1}, \alpha_{2}\right)$ over $Q$. Let $b_{1}$ and $b_{2}$ be positive integers. Define

$$
\begin{aligned}
b^{\prime} & =\frac{b_{1}}{D \log A_{2}}+\frac{b_{2}}{D \log A_{1}}, \\
\Lambda & =b_{2} \log \alpha_{2}-b_{1} \log \alpha_{1}
\end{aligned}
$$

The following lemma is obtained from a result due to Laurent [7, Corollary 2] by taking $m=10$ and $C_{2}=25.2$.

Lemma 2.1 [16, Proposition 2]. Let $\Lambda$ be given as above with $\alpha_{1} \geq 1$ and $\alpha_{2} \geq 1$ and suppose that $\alpha_{1}$ and $\alpha_{2}$ are multiplicatively independent. Then

$$
\log |\Lambda| \geq-25.2 D^{4}\left(\max \left\{\log b^{\prime}+0.38, \frac{10}{D}\right\}\right)^{2} \log A_{1} \log A_{2}
$$

When $n=2$, using Lemma 2.1, Terai [16, Lemmas 3 and 4] found upper and lower bounds for $x$ in equation (1.3). In a similar may, we have the following generalisation.
Lemma 2.2. If $x, z$ satisfy equation (1.3), then, for any positive integer $n$,

$$
x<2521 \log c .
$$

Proof. Let $\Lambda=z \log c-x \log a$. Since

$$
\begin{gather*}
0<\Lambda=\log \frac{c^{z}}{a^{x}}=\log \left(1+\frac{b}{a^{x}}\right)<\frac{b}{a^{x}}, \\
\log \Lambda<\log b-x \log a . \tag{2.1}
\end{gather*}
$$

On the other hand, from Lemma 2.1,

$$
\begin{equation*}
\log |\Lambda| \geq-25.2\left(\max \left\{\log b^{\prime}+0.38,10\right\}\right)^{2} \log a \log c \tag{2.2}
\end{equation*}
$$

where $b^{\prime}=x / \log c+z / \log a$. Since

$$
\begin{aligned}
a^{x+1}-c^{z}=a\left(c^{z}-b\right)-c^{z} & \geq\left(m^{2}-n^{2}-1\right)\left(m^{2}+n^{2}\right)^{2}-\left(m^{2}-n^{2}\right) 2 m n \\
& =\left(m^{2}-n^{2}\right)\left[\left(m^{2}+n^{2}\right)^{2}-2 m n\right]-\left(m^{2}+n^{2}\right)^{2} \\
& \geq(m+n)\left(m^{4}+n^{4}\right)-2\left(m^{4}+n^{4}\right)>0,
\end{aligned}
$$

we have $a^{x+1}>c^{z}$ and $b^{\prime}<(2 x+1) / \log c$. Let $M=x / \log c$. From (2.1) and (2.2),

$$
x \log a<\log b+25.2\left(\max \left\{\log \left(2 M+\frac{1}{\log c}\right)+0.38,10\right\}\right)^{2} \log a \log c
$$

Since $\log c=\log \left(m^{2}+n^{2}\right)>\log 13>2$ and $b<c$,

$$
M<1+25.2\left(\max \left\{\log \left(2 M+\frac{1}{2}\right)+0.38,10\right\}\right)^{2}
$$

and we thus obtain $M<2521$. This completes the proof of Lemma 2.2.
Lemma 2.3. If $x$, $z$ satisfy equation (1.3), then, for any positive integer $n$,

$$
x>\frac{m^{2}-n^{2}}{2 n^{2}} \log c .
$$

Proof. Clearly, (1.3) implies $x>z$. Let $\Lambda_{0}=\log c-\log a$. Then

$$
x \Lambda_{0}-\Lambda=x(\log c-\log a)-z \log c-x \log a=(x-z) \log c \geq \log c .
$$

From

$$
\begin{aligned}
\Lambda_{0}=\log \left(\frac{c}{a}\right) & =\log \left(\frac{m^{2}+n^{2}}{m^{2}-n^{2}}\right)=\log \left(1+\frac{2 n^{2}}{m^{2}-n^{2}}\right)<\frac{2 n^{2}}{m^{2}-n^{2}}, \\
x & \geq \frac{\log c}{\Lambda_{0}}+\frac{\Lambda}{\Lambda_{0}}>\frac{\log c}{\Lambda_{0}}>\frac{m^{2}-n^{2}}{2 n^{2}} \log c .
\end{aligned}
$$

This completes the proof of Lemma 2.3.

## 3. Proof of the main results

Proof of Theorem 1.4. From $(m, n) \equiv(2,3)(\bmod 8)$, taking $(1.2)$ modulo 4 , we have $(-1)^{x} \equiv 1(\bmod 4)$, and hence $x \equiv 0(\bmod 2)$. Taking (1.2) modulo $m+n$ gives $\left(-2 n^{2}\right)^{y} \equiv\left(2 n^{2}\right)^{z}(\bmod m+n)$, and thus

$$
(-1)^{y}=\left(\frac{-2 n^{2}}{m+n}\right)^{y}=\left(\frac{2 n^{2}}{m+n}\right)^{z}=(-1)^{z},
$$

which implies $y \equiv z(\bmod 2)$. There are two cases to consider.
Case 1. Suppose $y>1$. In this case, from (1.2), $1 \equiv 3^{x} \equiv 5^{z}(\bmod 8)$. Therefore, $y \equiv z \equiv 0(\bmod 2)$. From the proof of [5, Lemma 2] (page 226, lines 3-13), we see that $x=y=z=2$.

Case 2. Suppose $y=1$. In this case, we use (1.3) and work over the Gaussian integers.
Taking (1.3) modulo $n-m i$, where $i=\sqrt{-1}$, gives $\left(-2 n^{2}\right)^{x} \equiv-2 m^{2} i(\bmod n-m i)$. Since $n \equiv 3(\bmod 8)$ and $m \equiv 2(\bmod 8), n-m i$ is an odd primary number, and so $m=2 m_{1}$ and

$$
\begin{equation*}
\left(\frac{-2 n^{2}}{n-m i}\right)_{4}^{x}=\left(\frac{-8 m_{1}^{2} i}{n-m i}\right)_{4}, \tag{3.1}
\end{equation*}
$$

where $(\underset{*}{*})_{4}$ denotes the biquadratic residue symbol (see, for example, [13]). By the properties of the biquadratic residue symbol and biquadratic reciprocity,

$$
\begin{aligned}
\left(\frac{-2 n^{2}}{n-m i}\right)_{4} & =\left(\frac{-2}{n-m i}\right)_{4}\left(\frac{-n}{n-m i}\right)_{4}\left(\frac{-n}{n-m i}\right)_{4} \\
& =\left(\frac{-2}{n-m i}\right)_{4}\left(\frac{m i}{n}\right)_{4}\left(\frac{m i}{n}\right)_{4}=\left(\frac{-2}{n-m i}\right)_{4} \\
& =\left(\frac{i}{n-m i}\right)_{4}\left(\frac{1+i}{n-m i}\right)_{4}^{2}=i^{\left(m^{2}+n^{2}-1\right) / 4} \cdot i^{\left(m++n-m^{2}-1\right) / 2}=-i
\end{aligned}
$$

and

$$
\left(\frac{-8 m_{1}^{2} i}{n-m i}\right)_{4}=\left(\frac{2 i}{n-m i}\right)_{4}\left(\frac{m_{1}^{2}}{n-m i}\right)_{4}=\left(\frac{2 i}{n-m i}\right)_{4}=\left(\frac{1+i}{n-m i}\right)_{4}^{2}=1 .
$$

Thus, (3.1) implies $(-i)^{x}=1$, and hence $x \equiv 0(\bmod 4)$.
Next taking (1.3) modulo $m+n$ gives $-2 n^{2} \equiv\left(2 n^{2}\right)^{z}(\bmod m+n)$, and so

$$
\begin{equation*}
\left(2 n^{2}\right)^{z-1} \equiv-1(\bmod m+n) . \tag{3.2}
\end{equation*}
$$

If $m+n$ has a prime factor $p$ with $p \equiv-1(\bmod 4)$, taking (3.2) modulo $p$ gives

$$
1=\left(\frac{2 n^{2}}{p}\right)^{z-1}=\left(\frac{-1}{p}\right)=-1,
$$

which is a contradiction. Thus, $m+n$ must have a prime factor $p$ with $p \equiv 5(\bmod 8)$ and taking (3.2) modulo $p$ gives

$$
\begin{equation*}
\left(2 n^{2}\right)^{z-1} \equiv-1(\bmod p) \tag{3.3}
\end{equation*}
$$

From $p \equiv 5(\bmod 8)$, we get $(-1)^{(p-1) / 4} \equiv-1(\bmod 2)$, and hence -1 is a nonbiquadratic residue modulo $p$. Since $\left(n^{2}\right)^{z-1}=\left(n^{4}\right)^{(z-1) / 2}$ is a biquadratic residue modulo $p$, $2^{z-1}$ must be a nonbiquadratic residue modulo $p$ by (3.3). Hence, $4 \nmid z-1$ and $z \equiv 3(\bmod 4)$.

Finally, we show that (1.3) has no solution. Taking (1.3) modulo 16,

$$
\begin{equation*}
(-5)^{x}+12 \equiv 13^{z}(\bmod 16) \tag{3.4}
\end{equation*}
$$

From $x \equiv 0(\bmod 4)$ and $z \equiv 3(\bmod 4)$, we obtain $(-5)^{x} \equiv 1(\bmod 16)$ and $13^{z} \equiv$ $5(\bmod 16)$. Therefore, (3.4) cannot hold and (1.3) has no solution. This implies $y>1$ and, similarly to the proof of Case 1 , we deduce that Jeśmanowicz' conjecture is true.

For $(m, n) \equiv(6,7)(\bmod 8)$, we similarly prove that $(1.2)$ has only the positive integer solution $(x, y, z)=(2,2,2)$.

Proof of Theorem 1.5. From $(m, n) \equiv(2,7)(\bmod 8)$, taking (1.2) modulo 4 gives $x \equiv 0(\bmod 2)$ and taking (1.2) modulo $m-n$ gives $\left(2 n^{2}\right)^{y} \equiv\left(2 n^{2}\right)^{z}(\bmod m-n)$. Thus,

$$
(-1)^{y}=\left(\frac{2 n^{2}}{m-n}\right)^{y}=\left(\frac{2 n^{2}}{m-n}\right)^{z}=(-1)^{z}
$$

which implies $y \equiv z(\bmod 2)$. There are two cases to consider.
Case 1. Suppose $y>1$. In this case, similarly to the proof of Theorem 1.4, we have $x=y=z=2$.

Case 2. Suppose $y=1$. In this case, $y \equiv z \equiv 1(\bmod 2)$. Similarly to the proof of Theorem 1.4,

$$
\left(\frac{-2 n^{2}}{n-m i}\right)_{4}^{x}=\left(\frac{-8 m_{1}^{2} i}{n-m i}\right)_{4},
$$

where $m=2 m_{1}$ and

$$
\begin{aligned}
& \left(\frac{-2 n^{2}}{n-m i}\right)_{4}=i^{\left(m^{2}+n^{2}-1\right) / 4} \cdot i^{\left(m++n-m^{2}-1\right) / 2}=i^{3} \cdot i^{4 l+2}=i, \\
& \left(\frac{-8 m_{1}^{2} i}{n-m i}\right)_{4}=\left(\frac{1+i}{n-m i}\right)_{4}^{2}=i^{\left(m++n-m^{2}-1\right) / 2}=i^{4 l+2}=-1
\end{aligned}
$$

Then from $i^{x}=-1$ we get $x \equiv 2(\bmod 4)$.
Next, we prove that if $(m, n) \equiv(2,7)(\bmod 16)$, then equation (1.3) has no solution. Taking (1.3) modulo $m+n$, we have $\left(2 n^{2}\right)^{z-1} \equiv-1(\bmod m+n)$. Since $m+n \equiv 9(\bmod 16), m+n$ must have a prime factor $p$ such that $p \not \equiv 1(\bmod 16)$, that is, $p \equiv 3,5,7,9,11,13,15(\bmod 16)$. But $\left(2 n^{2}\right)^{z-1} \equiv-1(\bmod m+n)$ so $p \not \equiv 3(\bmod 4)$, and therefore $p \equiv 5,9,13(\bmod 16)$.

If $p \equiv 5,13(\bmod 16)$, that is, $p \equiv 5(\bmod 8)$, then from $(-1)^{(p-1) / 4} \equiv-1(\bmod 2)$ we deduce that -1 is a nonbiquadratic residue modulo $p$, and therefore $4 \nmid z-1$, which implies $z \equiv 3(\bmod 4)$.

If $p \equiv 9(\bmod 16)$, from $\left(2 n^{2} / p\right)=1$ we see that there is an integer $h$ satisfying $2 n^{2} \equiv h^{2}(\bmod p)$. Hence,

$$
\begin{equation*}
\left.h^{2(z-1)}\right) \equiv-1(\bmod p) . \tag{3.5}
\end{equation*}
$$

Because $(-1)^{(p-1) / 8} \equiv-1(\bmod 2),-1$ is a nonbiquadratic residue modulo $p$, and therefore $8 \nmid 2(z-1)$, which implies $z \equiv 3(\bmod 4)$. Working modulo 16 , since $(m, n) \equiv(2,7)(\bmod 16)$,

$$
\begin{gathered}
\left(m^{2}-n^{2}\right)^{x} \equiv(4-1)^{4 x_{1}+2} \equiv 9(\bmod 16) \\
2 m n \equiv 2 \cdot 2 \cdot 7 \equiv 12(\bmod 16) \\
\left(m^{2}+n^{2}\right)^{z} \equiv(4+1)^{4 z_{1}+3} \equiv 13(\bmod 16)
\end{gathered}
$$

Then (3.5) gives $5 \equiv 13(\bmod 16)$, which is a contradiction. Thus, if $(m, n) \equiv$ $(2,7)(\bmod 16)$, we must have $y>1$ and, from Case 1, Jeśmanowicz' conjecture is true when $(m, n) \equiv(2,7)(\bmod 16)$. When $(m, n) \equiv(10,15)(\bmod 16)$, we can similarly get the same conclusion.

Proof of Theorem 1.6. The proof of Theorem 1.6 is very similar to that of Theorem 1.5. We omit the details.

Proof of Theorem 1.7. By Theorems 1.5 and 1.6 and the first part of Proposition 1.2, we need only prove that (1.3) has no solution when $y=1,(m, n) \equiv(2,15),(10,7)$ $(\bmod 16)$ and $(m, n) \equiv(6,11),(14,3)(\bmod 16)$. To this end, as pointed out in Section 1, we consider the congruence (1.4).

We first give upper and lower bounds for $m$ (for given $n$ ). From Lemmas 2.2 and 2.3, $\left(m^{2}-n^{2}\right) / 2 n^{2}<2521$, and we deduce that $m<71 n$. On the other hand, since $m \equiv 2(\bmod 4), n \equiv 3(\bmod 4)$, by Proposition $1.1, m \geq n+3$ if $(m, n) \equiv(2,15)$, $(10,7)(\bmod 16)$ or $m \geq n+11$ if $(m, n) \equiv(6,11),(14,3)(\bmod 16)$. Therefore, $m^{2}-n^{2}$, $2 m n$ and $m^{2}+n^{2}$ are all bounded above and below for given $n$.

Next, we consider the moduli $N$. Let $x \equiv \alpha(\bmod 72), z \equiv \beta(\bmod 72)$. From $x \equiv 0(\bmod 2)$ and $z \equiv 1(\bmod 2)$, we may suppose that $\alpha \in\{2,4, \ldots, 72\}$ and $\beta \in$ $\{1,3, \ldots, 71\}$. Since $\operatorname{gcd}(m, n)=1$, we have $m^{2}+n^{2} \not \equiv 0(\bmod 3)$. In addition, if $3 \mid m n$, then $m^{2}-n^{2} \not \equiv 0(\bmod 3)$. Put $N_{1}=2^{4} \cdot 5 \cdot 7 \cdot 13 \cdot 19 \cdot 37 \cdot 73$. It is easy to prove that

$$
\begin{aligned}
\left(m^{2}-n^{2}\right)^{x} & \equiv\left(m^{2}-n^{2}\right)^{\alpha}\left(\bmod 3^{3} N_{1}\right) \\
\left(m^{2}+n^{2}\right)^{z} & \equiv\left(m^{2}+n^{2}\right)^{\beta}\left(\bmod 3^{3} N_{1}\right) .
\end{aligned}
$$

Thus, if (1.3) has the solution $(x, z)$ with $x \equiv \alpha(\bmod 72)$ and $z \equiv \beta(\bmod 72)$, then

$$
\begin{equation*}
\left(m^{2}-n^{2}\right)^{\alpha}+2 m n \equiv\left(m^{2}+n^{2}\right)^{\beta}\left(\bmod 3^{3} N_{1}\right) \tag{3.6}
\end{equation*}
$$

when $3 \mid m n$. If $3 \nmid m n$, that is, $3 \nmid n$ and $3 \nmid m$, we have $m^{2}-n^{2} \equiv 0(\bmod 3)$, and therefore $\left(m^{2}-n^{2}\right)^{x} \equiv\left(m^{2}-n^{2}\right)^{\alpha}\left(\bmod 3^{3}\right)$ when $\alpha \geq 3$. So, in this case, (3.6) still holds. If $3 \nmid n, 3 \nmid m$ and $\alpha=2$, then $\left(m^{2}-n^{2}\right)^{x} \equiv\left(m^{2}-n^{2}\right)^{\alpha}\left(\bmod 3^{2}\right)$. In this case,

$$
\begin{equation*}
\left(m^{2}-n^{2}\right)^{\alpha}+2 m n \equiv\left(m^{2}+n^{2}\right)^{\beta}\left(\bmod 3^{2} N_{1}\right) \tag{3.7}
\end{equation*}
$$

Finally, with computer assistance, in the range $2 \leq \alpha \leq 72,1 \leq \beta \leq 71$, we checked (3.7) in the following four cases using Maple 18:
(1) $n \in\{7,23,39,55,71,87\}$ with $m \equiv 10(\bmod 16), n+3 \leq m<71 n$;
$n \in\{15,31,47,63,79,95\}$ with $m \equiv 2(\bmod 16), n+3 \leq m<71 n$;
$n \in\{3,19,35,51,67,83,99\}$ with $m \equiv 14(\bmod 16), n+11 \leq m<71 n$;
$n \in\{11,27,43,59,75,91\}$ with $m \equiv 6(\bmod 16), n+11 \leq m<71 n$.
By Proposition 1.1, in Cases (1) and (2), $n+3 \leq m$, and, in Cases (3) and (4), $n+11 \leq m$. In Cases (1) to (3), no solutions ( $m, n, \alpha, \beta$ ) to (3.7) were found. In Case (4), (3.7) has the following three solutions when $n=91$ :

$$
(m, n, \alpha, \beta)=(2027,91,14,5),(4198,91,22,37),(4198,91,58,37) .
$$

Although all three solutions satisfy $\alpha>2$, none of them is a solution to congruence (3.6). Hence, (1.3) has no solutions. This completes the proof of Theorem 1.7.

Remark 3.1. We used a 64-bit computer with frequency 2.93 GHz to check congruences (3.6) and (3.7) by Maple 18. For each $n \leq 99$ the computation takes less than 1 second. Equation (1.3) can be checked by Maple 18 for $n=3,7,11, \ldots, 99$. But the computation takes much more time. For example, we checked (1.3) for $n=3$ by Maple 18 in the range of $6 \leq m \leq 210,1 \leq z<x \leq 2521 \log c$ with $m \equiv 14(\bmod 16)$ (cf. case (3) in the proof of Theorem 1.7), $x \equiv 0(\bmod 2), z \equiv 1(\bmod 2)$, and though we took Lemma 2.3 and [12, Lemma 12(i)] into consideration, the computation still took 625 seconds.

## Acknowledgement

The authors would like to thank the referee for detailed comments and valuable suggestions.

## References

[1] Z. F. Cao, 'A note on the Diophantine equation $a^{x}+b^{y}=c^{z}$, Acta Arith. 91 (1999), 85-93.
[2] V. A. Deḿjanenko, 'On Jeśmanowicz' problem for Pythagorean numbers', Izv. Vyssh. Uchebn. Zaved. Mat. 48 (1965), 52-56 (in Russian).
[3] M. J. Deng, 'A note on the Diophantine equation $\left(a^{2}-b^{2}\right)^{x}+(2 a b)^{y}=\left(a^{2}+b^{2}\right)^{z}$, J. Nat. Sci. Heilongjiang Univ. 19 (2002), 8-10 (in Chinese).
[4] M. J. Deng and G. L. Cohen, 'A note on a conjecture of Jeśmanowicz', Colloq. Math. 86 (2000), 25-30.
[5] Y. D. Guo and M. H. Le, 'A note on Jeśmanowicz' conjecture concerning Pythagorean numbers', Comment. Math. Univ. St. Pauli 44 (1995), 225-228.
[6] L. Jeśmanowicz, 'Several remarks on Pythagorean numbers', Wiadom. Mat. 1 (1955-1956), 196-202 (in Polish).
[7] M. Laurent, 'Linear forms in two logarithms and interpolation determinants II', Acta Arith. 133 (2008), 325-348.
[8] M. Le, 'A note on Jeśmanowicz' conjecture', Colloq. Math. 69 (1995), 47-51.
[9] W. T. Lu, 'On the Pythagorean numbers $4 n^{2}-1,4 n$ and $4 n^{2}+1$ ', Acta Sci. Natur. Univ. Szechuan 2 (1959), 39-42 (in Chinese).
[10] T. Miyazaki, 'Generalizations of classical results on Jeśmanowicz' conjecture concerning Pythagorean triples', J. Number Theory 133 (2013), 583-595.
[11] T. Miyazaki and N. Terai, 'On Jeśmanowicz' conjecture concerning primitive Pythagorean triples II', Acta Math. Hungar. 147 (2015), 286-293.
[12] T. Miyazaki, P. Z. Yuan and D. Y. Wu, 'Generalizations of classical results on Jeśmanowicz’ conjecture concerning Pythagorean triples II', J. Number Theory 141 (2014), 184-201.
[13] C. D. Pan and C. B. Pan, Algebraic Number Theory (Shandong University Press, Jinan, 2001), (in Chinese).
[14] W. Sierpiński, 'On the equation $3^{x}+4^{y}=5^{z}$ ', Wiadom. Mat. 1 (1955-1956), 194-195 (in Polish).
[15] K. Takakuwa, 'A remark on Jeśmanowicz' conjecture', Proc. Japan Acad. Ser. A Math. Sci. 72 (1996), 109-110.
[16] N. Terai, 'On Jeśmanowicz' conjecture concerning primitive Pythagorean triples', J. Number Theory 141 (2014), 316-323.

MOU-JIE DENG, Department of Applied Mathematics, Hainan University, Haikon, Hainan 570228, PR China e-mail: Moujie_Deng@163.com

DONG-MING HUANG, Department of Applied Mathematics,
Hainan University, Haikon, Hainan 570228, PR China
e-mail: Huangdm35@126.com

